ABB DRIVES

ACS580-01..., ACH580-01... and
ACQ580-01... +C135 drives with flange
mounting kit

Supplement

M

/

/







ACS580-01...,ACH580-01... and
ACQ580-01... +C135 drives with
flange mounting kit

Supplement

Table of contents

4. Mechanical installation —
Frames R1...R3

5. Mechanical installation —
Frames R1...R3 +B063 +B066

6. Mechanical installation —
Frames R4 and R5

7. Mechanical installation —
Frames R6...R9

ﬁ ﬁ % ﬁ L1l

3AXD50000349821 Rev C
EN

Original instructions
EFFECTIVE: 2023-12-19






Table of contents 5

Table of contents

1

Introduction to the supplement
Contents Of this ChAPLEr ...t 9
APPHCADTILY ettt ettt 9
TArget QUAIENCE ...ttt sttt ettt 9
Purpose of the supplement 9
Related dOCUMENTES .....coiuiiiiiiiieieeeee ettt ettt 10
Hardware description
Contents of this ChAPLEr ...t 11
ProdUCE OVEIVIEW ..ottt ettt s st et s et be e eaes 11
Layout and mounting POSItION .......ccceciieieririeiieiireseceeeeee et ee 11
Example: tilted position, frames R1L...R3 .......cccccevirrircienierceeeeereseeeeeeeene 12
Example: upright position, frames R4 to R ........ccccecvvevieeeceenecereeieene 13
Degree Of ProteClioN ...ttt re e 13
Special reqQUIrEMENTS ....ccccieieieieereeeetete ettt e saessesse e sseaeaans 14
OrderiNg COUERS ...uiuiiiiiietieeetectetese et te e ste e e et et e ssesseeseessessassasssessessassansesssessassans 14
Mechanical installation - General
Contents of this ChaPLer ... 15
Safety INSTIUCTIONS ..ottt ettt sae e 15
Examining the installation Site ... 15
Free space requirements 16
Additional requirements for cabinet installations .........ccccevvvireirinininnenenns 18
NECESSAIY TOOIS oottt sttt et aesse s e eseesenns 18
Unpacking and examining the delivery ... 18
Mechanical installation - Frames R1...R3
Contents of this ChaPLer ... 19
Flange mounting kit package contents .......c.cccevrevrrnenenncnesneneeeeneenes 20
MouNting tE€MPIALE .....ccveieiieireeeee ettt 21
INStallation ProCEAUIE ..ottt ettt 22
Optional steps
Installation of the grounding plate .....c.cccoceveeevrececncnecnenceene 27
Installation of the power cable grounding shelf lower on the
bottom bracket ... 29

Installing the drive on the mounting plate .......ccccccoeeeercnecnienccncnecnenene 31



6 Table of contents

5 Mechanical installation - Frames R1...R3 +B063 +B066

Contents of this ChaPLEr ..o 35
Flange mounting kit package contents ... ... 36
BaCK OO ...ttt ettt 37
MoUNTING tEMPIATE ..ottt 38
Installation procedure ........cccooevivvivnieneeicnceeceieen. . 39
Installing the drive on the mounting plate ... ... 40
Installing the back hood ... 43
6 Mechanical installation - Frames R4 and R5
Contents of this ChAPLEN ...ttt 45
Flange mounting kit package contents ... . 46
Mounting template .......cccccceveevevceeenencne .. 47
INStallation ProCEAUIE ...ttt ettt et 48
Installing the drive on the mounting plate ......c.cccccceevevnenernnenennneneneene 54
7 Mechanical installation - Frames R6...R9
Contents Of this ChAPTEr ...t 57
ST LY ettt ettt ettt a ettt e e e et e se e esantens 57
Flange mounting kit package contents .........ccoevriiineneninnenesceeeeee e 58
Mounting template ......c..cccevcereevceennee. ... 59
Installation procedure ........ccoeeveeieecieecieeieeieeeeens ... 60
Installing the drive on the mounting plate ... 62

8 Dimension drawings

Contents Of this CRAPTEN ......ci it
Frame R1 ..ottt
Attaching points and hole dimensions ...
Frame R1 (options +B063 and +B0O6G) .......cccceeueeueeeeieieceeeeeeeeceeere e
Attaching points and hole dimensions
Frame R2 ...
Attaching points and hole dimensions ...
Frame R2 (options +B063 and +B066) ...........
Attaching points and hole dimensions
Frame R3 ..o
Attaching points and hole dimensions
Frame R3 (options +B063 and +B066) .........ccceeeereeeerecrenreereeeeeeceeereeseeeeaesaens
Attaching points and hole dimensions ...
Frame R4 ...ttt ettt
Attaching points and hole dimensions
Frame RS ottt
Attaching points and hole dimensions




Table of contents 7

Frame RO ...
Attaching points and hole dimensions
Frame R7
Attaching points and hole dimensions
Frame R8 ...
Attaching points and hole dimensions
Frame RO ...
Attaching points and hole dimensions

Further information







Introduction to the supplement 9

Introduction to the
supplement

Contents of this chapter

This chapter describes the supplement.

Applicability

This supplement is applicable to ACS580-01, ACH580-01 and ACQ580-01 drives
with the flange mounting kit (option +C135).

Target audience

This supplement is intended for people who plan the installation and install the
drive with the flange mounting kit. Read the supplement before you work on the
drive. You are expected to know the fundamentals of electricity, wiring, electrical
components and electrical schematic symbols.

The supplement is written for readers worldwide. Both Sl and imperial units are
shown.
Purpose of the supplement

This supplement tells you how to install the drive mechanically onto an opening
in a mounting plate with the flange mounting kit.



10 Introduction to the supplement

Related documents

You can find manuals on the Internet. See below for the relevant code/link. For
more documentation, go to www.abb.com/drives/documents.

ACH580-01 manuals ACQ580-01 manuals ACS580-01 manuals


http://www.abb.com/drives/documents
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK105713A8085&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106713A2709&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK10103A0587&DocumentPartId=1&Action=LaunchDirect

Hardware description 11

Hardware description

Contents of this chapter

This chapter describes the flange mounting kit.

Product overview

The flange mounting kit contains brackets to attach the drive onto a mounting
plate. The heatsink of the drive can be located in the cooling air channel, and the
front part of the drive on the other side of the mounting plate.

Layout and mounting position

You caninstall the flange-mounted drive in a tilted or an upright position depending
on the drive type.



12 Hardware description

Example: tilted position, frames R1...R3

1 | Mounting plate 4 | Side flange bracket

2 | Top flange bracket 5 | Bottom flange bracket

3 | Lifting hole 6 | Drive heatsinkin the cooling air channel




Hardware description 13

Example: upright position, frames R4 to R9

1 Hood (in the cooling air channel;
required for UL Type 12)

2 Top flange bracket
3 Mounting plate
4  Lifting hole

5 Drive heatsink in the cooling air
channel

6 Side flange bracket

7 Drive front side

8 Bottom flange bracket

Degree of protection

The degree of protection of the back of the drive (heatsink) is always IP55

(UL Type 12) regardless of the cover. When the cover is not in position, the degree
of protection of the front part of the drive is IP20 (UL Open Type). The IP55

(UL Type 12) cover can only be in position for frame R3.

Frame sizes R1...R3 with option +B063: The degree of protection of the back of
the drive (heatsink) is IP66.

Frame sizes R1...R3 with option +B066: The degree of protection of the back of
the drive (heatsink) is UL Type 4X.




14 Hardware description

Special requirements

Frame size |IP21 (UL Type 1)

R1 Install a sealing plug and an auxiliary cooling fan, or remove the front cover.
R2 To order the auxiliary cooling fan, refer to Ordering codes.
R3 An auxiliary cooling fan is necessary because the sealing plug prevents

R4 cooling air flow to the control circuits of the drive.

Exception: In a dry environment, you can leave the cover in position without
the sealing plug.

Ordering codes

The flange mounting kit is a plus code option (+C135) or ordered separately with
these ordering codes.

Frame size |Ordering code of flange mounting kit

R1 3AXD50000105311 (IP21, UL Type 1)
R1 3AXD50001125462 (IP66, UL Type 4X)
R2 3AXD50000105328 (IP21, UL Type 1)
R2 3AXD50001125479 (IP66, UL Type 4X)
R3 3AXD50000105335 (IP21 and IP55, UL Type 1 and UL Type 12)
R3 3AXD50001125486 (IP66, UL Type 4X)
R4 3AXD50000031460 (IP21, UL Type 1)
R5 3AXD50000031461 (IP21, UL Type 1)
R6 3AXD50000018852 (IP21, UL Type 1)
R7 3AXD50000018853 (IP21, UL Type 1)
R8 3AXD50000018854 (IP21, UL Type 1)
R9 3AXD50000018855 (IP21, UL Type 1)

Frame size |Ordering code of IP55 (UL Type 12) internal cooling fan for IP21 (UL Type 1)

drives
R1 3AXD50000050128
R2 3AXD50000050128
R3 3AUA0000088115

R4 3AXD50000034334




Mechanical installation — General 15

Mechanical installation -
General

Contents of this chapter

This chapter gives a general description of how to mechanically install the drive
with the flange mounting kit.

Safety instructions

Obey the general safety instructions in the hardware manual and the task-specific
instructions in this supplement.

Wear protective gloves and long sleeves. Some parts have sharp edges.

Examining the installation site
Make sure that the installation site complies with these requirements:

- Theinstallation site has sufficient ventilation to prevent overheating of the
drive. Refer to Losses, cooling data and noise in the hardware manual for the
required air flow in the cooling air channel and in the front part of the drive.

« Theoperation conditions of the drive agree with the specifications in Ambient
conditions in the hardware manual.

« The mounting plate is vertical, non-flammable and strong enough to hold the
weight of the drive.

.« The material behind, above and below the drive is non-flammable.



16 Mechanical installation — General

- Thereis enough free space above and below the drive for cooling air flow,
service and maintenance. There is enough free space in front of the drive for
operation, service and maintenance. Refer to Free space requirements in this
supplement and Dimensions, weights and free space requirements in the
hardware manual.

+«  Whenyouinstall drives above one another, make sure that the hot air from the
outlet of the drive flows away from the inlet of the drive above it.
Free space requirements

You caninstall the flange-mounted drives side by side. For additional requirements,
refer to Examining the installation site (page 15) and Additional requirements for
cabinet installations (page 18).

Note: The free space requirements below are for the heatsink side of the mounting
plate. There is no free space requirement for the front side of the mounting plate.
That area can be occupied by other equipment (for example, contactors, relays,
wires, ducts, and so on).




Mechanical installation — General 17

),
A ¢ v
\ \
9] o 51 ]
o |I° Y lo Il
# A R A
C W
AN
© |l &
O]
(o} s
A ;!
B /4
Frame A B C
mm in mm in mm in
Rl...R2 100 3.94 200 7.87 250 9.84
R1...R2 |220/100Y |8.66/3.94D| 235/200% 9.25/7.87Y | 400/250Y |15.75/9.84V
(IP66, UL
Type 4X)
R3 310/190%) |1220/7.48Y| 23572001 9.25/7.87Y | 400/250Y |15.75/9.84V
(IP66, UL
Type 4X)
R3...R5 115 4.53 200 7.87 250 9.84
R6 ... R9 200 7.87 300 11.81 250 9.84

1) Distance from the drive / distance from the back hood




18 Mechanical installation — General

Additional requirements for cabinet installations

Make sure that the cooling air gratings of the drive are not covered. Make sure
that the required cooling air flow is achieved. In a fully closed cabinet with no
forced ventilation, a fan for circulating air inside the cabinet may be needed.

For UL installations, plan the wire bending radius of input power and motor cables
according to UL rules.

Necessary tools

To move a heavy drive, you need a crane, fork-lift or pallet truck (check load
capacity).

To lift a heavy drive, you need a hoist.

To install the drive mechanically, you need the following tools:
- drill with suitable bits

- screwdriver set (Torx, flat and/or Phillips, as appropriate)
- torque wrench

. socket set, Hex key set (metric)

Unpacking and examining the delivery

The flange mounting kit package is tied with straps onto the drive package or sent
separately.

To unpack:
« Cut the straps.

+ Remove the flange mounting kit package. For the contents of the kit package,
refer to the kit package contents section in the mechanical installation chapter
of the drive frame size later in this manual.

« To open the drive package, refer to the drive hardware manual.

Examine that all items are present and that there are no signs of damage. Read
the data on the type designation label of the drive to make sure that the drive is
of the correct type.



Mechanical installation — Frames R1...R3 19

Mechanical installation -
Frames R1...R3

Contents of this chapter QR

This chapter describes how to mechanically install drive frame sizes R1...R3 with
the flange mounting kit.



20 Mechanical installation — Frames R1...R3

Flange mounting kit package contents

The figure below show the layout of the flange mounting kit package. Examine
that all items are present and that there are no signs of damage.

1 | Straps

2 | Side brackets

3 | Bottom bracket

4 | Top bracket (In frame R3 different)
5 | Tightening brackets
6 | Bottom U-bracket

7 | Top U-bracket

8 | Cardboard tray

9 | Top cardboard cover
10 | Sealing plug

11 | Mounting template

12

13

14

15

Grounding plate (In frame R3 different)

Quick guide

Hood (required for UL Type 12)

Screw package:

M4 nut (4 pcs)

M5x20 screw (4 pcs)

M6x25 screw (R1: 10 pcs; R2: 12 pcs;
R3:14 pcs) D

M6 nut (R1...R2: 18 pcs; R3: 19 pcs)
M4x8 screw (R1...R2: 2 pcs)

D The delivery does not include the Rivet or Kalei nuts for the M6 screws.




Mechanical installation — Frames R1...R3 21

Mounting template

The flange mounting kit package includes a template in actual size to drill the
attaching holes and to cut the hole in the mounting plate.

An example template is shown below.




22 Mechanical installation — Frames R1...R3

Installation procedure

1. ForlIP21 (UL Type 1): To remove the fan assembly, push the retaining clips and

pull the fan assembly from the frame.

7
a4 4
0




Mechanical installation - Frames R1...R3 23

3. ForlIP21 (UL Type 1): Install the fan assembly.

4. ForlP21 (UL Type 1): Toinstall the auxiliary fan, refer to Replacing the auxiliary
cooling fan, IP55 (UL Type 12) frames R1...R2 or Replacing the auxiliary cooling
fan, IP55 (UL Type 12) frame R3 in the hardware manual.

N\




24 Mechanical installation — Frames R1...R3

5. For IP55 (UL Type 12): The cover can be in position only for frame R3 but it
must be removed from frames R1 ...R2.
To remove the cover:
+ Remove the tightening screws with a T20 Torx screwdriver (a).
«  Lift the cover up (b).
« Lift the cover off (c).
Recycle the cover according to ACH580-01, ACQ580-01 and ACS580-01 drives
recycling instructions and environmental information (3AXD50000040612
[English]).



https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf

Mechanical installation — Frames R1...R3 25

6. Attach the U-brackets (b and c) to the back of the drive.

4 x M6 nut
6 N'm (4.4 Ibf-ft)

7. Attach the side brackets (d) to the U-brackets which were attached in step 6 %
using M6 nuts finger-tight.

8. Attach the tightening brackets (e) with M5x20 screws to press the side brackets
against the module.

9. Tighten the side bracket nuts.

4 x M5x20 screw
3 N'm (2.2 Ibf-ft)

4 x M6 nut

6 N'm (4.4 Ibf-ft)




26 Mechanical installation - Frames R1...R3

10. Attach the top bracket (f) and the bottom bracket (g) to the side brackets,
first the inner sides (1) (the sides that touch the drive), then the outer sides

2.

11. Remove the tightening bracket (e) from the top to enable the replacement of
the cooling fan.

8 x M6 nut

6 N-m (4.4 Ibf-ft)




Mechanical installation — Frames R1...R3 27

Optional steps

Installation of the grounding plate
For R1 and R2:
1. Push the grounding plate onto the alignment pins on the bottom bracket.

2. Attach the grounding plate with the screws and nuts.

2 x M4 nut 1.5 N-m (1.1 Ibf-ft)
2 x M4 x 8 Combi screw
? 1.5N'm (1.1 Ibf-ft)







Mechanical installation — Frames R1...R3 29

Installation of the power cable grounding shelf lower on the bottom bracket

1. Remove the cover and the cable entry plate.




30 Mechanical installation - Frames R1...R3

2. Toremove the power cable shelf, remove screws (i).

3. Install the screws (1.5 N-m/1.1 Ibf-ft) to avoid moisture exchange through the

empty holes.

4. Attach the power cable shelf to the bottom bracket with M4 nuts.

Frame R3 is shown as an example. The cable shelf varies in different frame sizes.

R

1.5 N-m (1.1 Ibf-ft)

|

|

I @ 2x M4 nut

| 1.5 N-m (1.1 Ibf-ft)
| S

|




Mechanical installation — Frames R1...R3 31

Installing the drive on the mounting plate

Refer to Dimension drawings (page 65) for the dimensions of the flange and
the required opening in the mounting plate.

Attach the mounting template from the flange mounting kit package onto the
mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the
hole size for Rivet or Kalei nuts (not included in the delivery).

Remove the mounting template.




32 Mechanical installation — Frames R1...R3

5. TofulfillUL Type 12 requirements at the backside of the drive, attach the hood
to the cooling channel. This is not required for IP55 drives.

F;, —
R1...R2:
2 x M6 nuts
R3:
3 x M6 nuts
6 N'm (4.4 Ibf-ft)
Back Front

Back: View from top Back: View from bottom




Mechanical installation — Frames R1...R3 33

Attach chains to the drive lifting holes and lift the drive with a lifting device
onto the opening in the mounting plate.

Attach the bottom bracket with one screw.
Attach the top bracket with one screw.

Attach the rest of the mounting screws. Remove the chains.

1 x M6x25 screw
6 N-m (4.4 Ibf-ft)

1 x M6x25 screw
6 N-m (4.4 |bf-ft)

R1: 8 x M6x25 screw
R2: 10 x M6x25 screw
R3: 12 x M6x25 screw
6 N-m (4.4 Ibf-ft)




34 Mechanical installation - Frames R1...R3




Mechanical installation — Frames R1...R3 +B063 +B066 35

Mechanical installation -
Frames R1...R3 +B063 +B066

Contents of this chapter

This chapter describes how to mechanically install drive frame sizes R1...R3 with
option +B063 or +B066 with the flange mounting kit.



36 Mechanical installation — Frames R1...R3 +B063 +B066

Flange mounting kit package contents

The figures below show the layout of the flange mounting kit packages. Examine
that all items are present and that there are no signs of damage.

3AXD50000958641
1 | Cardboard tray

2 | Flange

3 | Mounting template

4 | Quick guide

5 | Top cardboard cover




Mechanical installation — Frames R1...R3 +B063 +B066 37

Back hood

3AXD50001110758

1 | Cardboard box

2 | Back hood

3 | Mounting template

4 | Quick guide

5 | Screw package




38 Mechanical installation — Frames R1...R3 +B063 +B066

Mounting template

The flange mounting kit package includes a template in actual size to drill the
attaching holes and to cut the hole in the mounting plate.

An example template is shown below.

I
/3




Mechanical installation — Frames R1...R3 +B063 +B066 39

Installation procedure

1. Remove thefront cover. Recycle the cover according to ACH580-01, ACQ580-01
and ACS580-01 drives recycling instructions and environmental information
(3AXD50000040612 [English]).

2. Remove the conduit plate.

8 x M4x25 SEM screw
3.0 N-m (2.2 Ibf-ft)



https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf

40 Mechanical installation - Frames R1...R3 +B063 +B066

Installing the drive on the mounting plate

1. Refer to Dimension drawings (page 65) for the dimensions of the flange and
the required opening in the mounting plate.

2. Attach the mounting template from the flange mounting kit package onto the
mounting plate.

Make the opening and drill the holes for the mounting screws.

4. Remove the mounting template.




Mechanical installation — Frames R1...R3 +B063 +B066 41

5. Attach chains to the flange lifting holes and lift the drive with a lifting device

onto the opening in the mounting plate.




42 Mechanical installation — Frames R1...R3 +B063 +B066

6. Attach the bottom corner of the flange with one screw.
7. Attach the top corner of the flange with one screw.

8. Attach the rest of the mounting screws.

Screws: Screws:
2 x M4x0.7D Frames R1 and R2: 6 x M4x0.7%
Tightening torque: 3.0 N-m (2.2 Ibf-ft). Frame R3: 8 x M4x0.7)

Tightening torque: 3.0 N-m (2.2 Ibf-ft).

Nuts: Use either PEM size PLC-M4x0.7 (nylon locking) or PEM size M4x0.7-PEM
(standard) nuts.

1 Minimum length of 25 mm (length varies with installation)

9. Remove the chains.

10. Apply a thick layer of silicone or similar sealant around each screw on the back
side of the mounting plate.




Mechanical installation — Frames R1...R3 +B063 +B066 43

Installing the back hood
On the back of the drive, remove the four screws on the top and bottom.
Start two M4x12 screws (delivered with the flange kit) on the top holes.

Install the back hood by hanging it from the two top screws using the keyholes
at the top of the hood.

Attach the two bottom screws through the hood into the drive.

Torque all four screws to 2.0 N-m (1.5 Ibf-ft).

2 x M4x12 screw
2.0 N-m (1.5 Ibf-ft)

2 x M4x12 screw
4 2.0 N-m (1.5 Ibf-ft)

~




44




Mechanical installation — Frames R4 and R5 45

Mechanical installation -
Frames R4 and R5

Contents of this chapter

This chapter describes how to mechanically install drive frame sizes R4 and R5
with the flange mounting kit.



46 Mechanical installation — Frames R4 and R5

Flange mounting kit package contents

The figure below shows the layout of the flange mounting kit packages. Examine
that all items are present and that there are no signs of damage.

3AXD50000038137
1 | Tightening brackets 9 | Bottom bracket
2 | Top and bottom U-brackets 10 | Side brackets
3 | Top cardboard cover 11 | Quick guide
4 | Cardboard tray 12 | Hood (required for UL Type 12)
5 | Sealing plug R4 13 | Screw package:

« M5x20 screw (4 pcs)
6 | Clamp plate R5 . M6x25 screw (16 pes) Y

. « M6 nut (23 pcs)
7 | Mounting template

8 | Top bracket

D The delivery does not include Rivet or Kalei nuts for the M6 screws.




Mechanical installation — Frames R4 and R5 47

Mounting template

The flange mounting kit package includes a template in actual size to drill the
attaching holes and to cut the hole in the mounting plate.

An example template is shown below.




48 Mechanical installation — Frames R4 and R5

Installation procedure

1. For R4, 1P21 (UL Type 1): To remove the fan assembly, push the retaining clip
with a flat screwdriver and pull the fan assembly out of the frame.




Mechanical installation — Frames R4 and R5 49

3. ForR4,I1P21 (UL Type 1): Install the fan assembly.

4. ForR4,1P21 (UL Type 1): To install the auxiliary fan for IP21 drives, first remove
the covers.

R4, IP21 (UL Type 1) R5, IP21, UL Type 1 R5, IP21, UL Type 1

Toinstall the fan, refer to Replacing the auxiliary cooling fan, IP55 (UL Type 12)
frame R4; IP21 and IP55 (UL Type 1 and UL Type 12) frame R5 in the hardware
manual.




50 Mechanical installation — Frames R4 and R5

5. ForIP55 (UL Type 12):
To remove the cover:
+ Remove the tightening screws with a T20 Torx screwdriver (a).
. Lift the cover up (b)
« Lift the cover off (c).
Recycle the cover according to ACH580-01, ACQ580-01 and ACS580-01 drives

recycling instructions and environmental information (3AXD50000040612
[English]).

4 x M6 nut
6 N-m (4.4 Ibf-ft)



https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf

Mechanical installation — Frames R4 and R5 51

For R4 and R5:
Attach the side brackets (d) to the U-brackets with M6 nuts finger-tight.

Attach the tightening brackets (e) with M5x20 screws to press the side brackets
against the module.

Tighten the side bracket nuts.

4xM5x20 & T
screw ! 8 x M6 nut

3N'm (221bfft) 6 N-m (4.41bFft)




52 Mechanical installation — Frames R4 and R5

10. For R4 and R5: Attach the top (f) and bottom (g) brackets to the side brackets,
first the inner sides (1) (the sides that touch the drive), then the outer sides

2.

2 x M6 nut
6 N'm (4.4 Ibf-ft)

amE
QamE
5
L
®

@ .//‘
®

Il T )

i,

. ol W) .

[\




Mechanical installation — Frames R4 and R5 53

11. For R4 and R5: Remove the tightening bracket (e) from the front of the fan.

12.

2 x M6 nut
‘i‘e N'm (4.4 Ibf-ft)




54 Mechanical installation - Frames R4 and R5

Installing the drive on the mounting plate

1. Refer to Dimension drawings (page 65) for the dimensions of the flange and
the required opening in the mounting plate.

2. Attach the mounting template from the flange mounting kit package onto the
mounting plate.

3. Make the opening and drill the holes for the mounting screws. Consider the
hole size for the Rivet or Kalei nuts (not included in the delivery).

4. Remove the mounting template.

N °

.
.
I

+ hd hd

//0

el
.
.

.




Mechanical installation — Frames R4 and R5 55

5. TofulfillUL Type 12 requirements at the backside of the drive, attach the hood
to the cooling channel. This is not required for IP55 drives.

——
1 - /“ﬂJ 3
3 x M6 nut — k=
6 N'm (4.4 Ibf-ft)

Back Front Back F Front

Back: View from top Back: View from bottom




56 Mechanical installation - Frames R4 and R5

6. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.

7. Attach the bottom bracket with one screw.
8. Attach the top bracket with one screw.

9. Attach the rest of the mounting screws. Remove the chains.

1x M6x25 screw |©° © o
6 N-m (4.4 |bf-ft) e

©

\\%
1 x M6x25 screw
6 N-m (4.4 Ibf-ft)

14 x M6x25 screw
6 N-m (4.4 Ibf-ft) |




Mechanical installation — Frames R6...R9 57

Mechanical installation -
Frames R6...R9

Contents of this chapter

This chapter describes how to mechanically install drive frames sizes R6...R9 with
the flange mounting kit.

Safety

WARNING!

For frame sizes R6 to R9: Use the lifting eyes of the drive when you lift the
drive. Do not tilt the drive. The drive is heavy and its center of gravity is high.
An overturning drive can cause physical injury.




58 Mechanical installation — Frames R6...R9

Flange mounting kit package contents

1 | Quick guide 8 | Screw package:

. « M6 nut (11 pcs)
2 | Mounting template . M6x10 T30 (12 pcs) Y

« M6%25 T25 (R6...R8: 16 pcs, R9: 18

3 | Top bracket pcs)
4 | Bottom bracket
5 | Side brackets
6 | Top cardboard cover 9 | Hood (required for UL type 12)
7 | Option kit package label 10 | Cardboard tray

% D The delivery does not include Rivet or Kalei nuts for the M6 screws.




Mechanical installation — Frames R6...R9 59

Mounting template

The flange mounting kit package includes a template in actual size to drill the
attaching holes and to cut the hole in the mounting plate.

An example template is shown below.




60 Mechanical installation — Frames R6...R9

Installation procedure

1

For IP55 (UL Type 12):

To remove the cover:

+ Remove the tightening screws with a T20 Torx screwdriver (a).

«  Lift the cover up (b)

« Lift the cover off (c).

Recycle the cover according to ACH580-01, ACQ580-01 and ACS580-01 drives

recycling instructions and environmental information (3AXD50000040612
[English]).

T\ W\

o —
VN 1\

i

N



https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf
https://library.e.abb.com/public/4e0bc7d38cfc4587a9c9ebbebbd5c6f0/EN_ACS580-01_RE_E.pdf

Mechanical installation — Frames R6...R9 61

2. Attach the side brackets to the drive.

12 x M6x10 T30
6 N-m (4.4 Ibf-ft)

T 8x M6 nut
6 Nm (4.4 Ibf-ft)




62 Mechanical installation — Frames R6...R9

Installing the drive on the mounting plate

1. Refer to Dimension drawings (page 65) for the dimensions of the flange and
the required opening in the mounting plate.

2. Attach the mounting template from the flange mounting kit package into the
mounting plate.

3. Make the opening and drill the holes for the mounting screws. Consider the
hole size for Rivet or Kalei nuts (not included in the delivery).

4. Remove the mounting template.




Mechanical installation — Frames R6...R9 63

5. TofulfillUL Type 12 requirements at the backside of the drive, attach the hood
to the cooling channel. This is not required for IP55 drives.

3 x M6 nut
6 N'm (4.4 Ibf-ft)
/%3: =
Back Front Back Front

Back: View from bottom Back: View from top




64 Mechanical installation — Frames R6...R9

6. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.

7. Attach the bottom bracket with one screw.
8. Attach the top bracket with one screw.

9. Attach the rest of the mounting screws. Remove the chains.

1 x M6x25
6 N'm (4.4 Ibf-ft)

1 x M6x25
L 6 N-m (4.4 Ibf-ft)

R6...R8:
14 x M6x25
6 N-m (4.4 Ibf-ft)

[

R9: \"
16 x M6x25
6 N-m (4.4 Ibf-ft)




Dimension drawings 65

Dimension drawings

Contents of this chapter

This chapter contains the dimension drawings of the flange mounting kits and
the required openings in the mounting plate. The drawings for frames R6...R9
show ACS880-01 but the flange dimensions are equal for ACH580-01, ACQ580-01

and ACS580-01.



66 Dimension drawings

Frame R1
[6¢ ] o
01 ™
™
— pi - S
_ o
oyl - o
= 3
ol a)
>
— = <
o [T [+2]
~ [ce) .
TS ol [6¢ ]
—l= == 0]
9y 21} [£2°2]
L€ I
[yl ¢l
(133
_
— o
pres Vel
S A\
T T
2] [2€ ]
Sl< == |7 [65°] [65°]
Tl e T Gl Cl
|| | L1 ]
(B S E =
Sle B
T i ]
[66¢ 1] ‘ ‘
Lo0T L7 2] L2 61, |qes ] ||108)
(877°9] 19 ¢ el .oz
L78S] (86 éé
[S1°81]




Dimension drawings 67

i

The hood is needed for UL Type 12 installation only.

el 1]
ry

[ee 1]
Ve

3AXD50000131242

@)

—o—
ho
©)

120

[4.72]
i
=)fa)
A

(<}

(€871
€l
tey el
L8

[4.95]

126

Q - O Q i
9 [ e RZo e o| Pl
= o7 o o
@ o (> ] © o ©° b,
— ]
© © = ©




68 Dimension drawings

Attaching points and hole dimensions

16

44

L1731

150

[5.91]
120

L4721

631

4%

Y/

35

135

[5.32]

135

[5.321]

120
[4.721

s
[16. 101

409

1]

3AXD50000035517




¥692T0T000SAXVE
fone= WNITLNO (107017 75¢

Dimension drawings 69

Frame R1 (options +B063 and +B066)

INTOd ONTLIIT=

LINTOd ONTL4T1—

Jﬂ

[€9°6]

ey

€r9
€L9

¢€°5¢]
L6y 9¢]

[

B

NAACE

0r¢

LI8° €1 L6

INTya (671 6

(443

[rG el

e

[88°7]

9

)

L9

[€0-¢l

70¢

24

[1g'v]

70¢

[€0°8]

1S

19

70¢

[€0°8]

€79

[¢€°6¢]

[9e vl 111

LIL01] ¢Le




70 Dimension drawings

Attaching points and hole dimensions

FOR M4X0.7 SCREW

254 110.017

[8.03]

204

[8.03]

204

[8.03]

204

225 18.86]
15 [.57]

‘- |

31

[23.65]

601

3AXD50001012694




Dimension drawings 71

Frame R2

£2€1€10000SAXVE

o

[6€

0
[0l °¢1]

€§

:

Loy 911

LIy

[L0°L1]

cey

[06 0]

€S

v6¢

[90°911
80y

LIS°61]

[90°11]

(08

ro—
o>—

0§

)
1)

0¢

0¢

Ly JILeL v ]idL vl
0¢

Lol

[69°12]

166

¢

[66°1]

19
L1o'¢]
LL




nly.

Type 12ins

eded for UL

‘‘‘‘‘

ﬁﬁﬁ

mmmmmm
9¢1

ﬁﬁﬁﬁﬁﬁ
VLI




Attaching points and hole dimensions

0

21

15
[5.911
120
[4

121

[.811]

Dimension drawings 73

60

[2.36]

¥

631

16

39

[1.38]

120

[4.721]

120
[4.721]

120

[4.721]

120

[4.721]

[19.64]

499

|8

[.71]

3AXD50000035597




74 Dimension drawings

Frame R2 (options +B063 and +B066)

LIFTING POINT

251 [9.89]

P

Il [4.36]

[5.54]

[9678¢1 GdL

10 [.39]

L0711

212

[8976¢1 ¥SL

LIyl 0cl

18871 vel

14

[ye L1T 8¢y

[4.36]

DRIVE
OUTL INE

9 [.35]

254 [10.011]

L1971 91

19 1 9l

L6l 1€l

LIT6] 1€

L1761

1€¢

[967°8¢1 G¢l

3AXD50000999286



Dimension drawings 75

Attaching points and hole dimensions

254 [10.01]
225 [8.86]
FOR M4X0. T SCREW 15 [.57]

| 1]

[9.

N
oD
O

231

(9. 11]
[26.89]

231
683

3AXD50000999286




76 Dimension drawings

Frame R3
‘ r-Y r-y = o Y ‘i
~ HTFF e ol IEN
N e o o s
P e e i @E
y e b o o oa.{i
O L] = L) L2 ‘J
[L7°] (511
7l 6l
[02'¢] [29°81] 1¢2]
K N 65
LIy 6l
€6v
16 22]
785
~
_\o
< @,
o@//
| AR =
L | i i
5 il il i
- < — i R
J ST A 5 (2L 111
e A e 057
[L2°8]]
79y
o~ Sl s
f —|— o
|
S
g: ENPE )
. (65 ]
[66°9]
CETI 5
(v 2] (1661|1661 116°6]
€9 oo orl
[61°¢]
08
[¢1°12]

3AXD50000131143




Dimension drawings 77

o

Hood is needed for UL Type 12 installation only.

18911
8v

16911
ar

[6¢]

3AXD50000130870

120
[4.721
10
391
e [o]
®
ARBl——
j 0
Oad
A

i

[L1°¢]
1€
[re 2l )
09

[7.53]

191

la ) ) = a a a]
. |
o P o ) g o
= — (€] (¢}
2=
P R © °
- ==
K= = <}
70 b ] o a °
. ) ) T O o M|




78 Dimension drawings

Attaching points and hole dimensions

95
2. 17

70

96

0
[2.76] .97

96

[3.18]

[3.18]

64

7¢;

1,631

140

?.24]
— T
: "

[5.511]

140

[5.511]

140

[5.511]

[4.37]

£

[21.65]

550

230

171

[9.061

3AXD50000036519




Dimension drawings 79

Frame R3 (options +B063 and +B066)

3AXD50001013059

—LIFTING POINT

ﬁUFT\NG POINT

[9.611

244
[.39]
[5.24]

10

[4.37]
133

[oc o€l L9l
_ tLe el Lel

[68°v] €<l
9L L1] 16y ‘

DRIVE
OUTLINE

[13.43]
[12.12]

341
323

173 [6.82]

.35]

L1971 91 [S¢ LT 8l [G¢ L1 8l

[6¢L] v8l L6 L] w8l o

i

[og o€l L9l



80 Dimension drawings

Attaching points and hole dimensions

HOLE FOR M4x0.7 SCREW

[1.25]

184

[1.25]

184

323

[12.72]

294

[11.58]

|9

[.57]

ﬁ g [.31]

[28.54]

125

3AXD50001013059




Dimension drawings 81

Frame R4
[90°62) N
= 1£9 &
BB 3
>~ olo (=3
| —|—= a -y T A a a o
i . | S
s —
i : ° ° ﬁ ey
. - g
) lﬁ . . {LL | >
©
[56°] [1g°p2)
72 619
(18" 1] .
T [89°82]
8¢l
e
S
2X
= S = 16°12)
S = 155
—I= = (g e
165
(7072
g
(Ll 1]
o7
3
3l
| | | Aj%;_
- 050\ = | : — |5
Yel = [aed
e et F-—ofl — o=, -
s e
- al [E— ST
B 1 \ R
(567 ‘ug'9]‘[[9'91‘[[9‘91‘u9'91l |
Sl R Tt LTt LT
(675 0¢]

6 GLL




82 Dimension drawings

Hood is needed for UL Type 12 installation only.

3AXD50000038179

-~ = ®lo @
el P4 @
®
@
oo
0017
9
[52°1]
¢
[r ¢l
88
L Lee 2
\ [
e -] 00
[ 1T 1T 1T 1
=] = = =i =3 & =
Y Y T e Y a ]
s — P
B ° ® e .
P
® [ b
g
od|e— oy 1 ]
2 e
o o o o o ]




Attaching points and hole dimensions

251

[

20

5 10
TZ.HT‘ [2.761] ‘[\

96

.97]‘

[3.781

9
[3.781

6
[.24]

66

s

4

Y

4

16

Dimension drawings 83

631

[

(1. 38T [2.58

142

[5.57]

142

[5.57]

142

[5.57]

142

[5.57]

[4.37]

%\

s

696

[27.42]

230

20

0
71

[9.061]

7]

3AXD50000036765




84 Dimension drawings

Frame R5

[10.59]

&
|
ki3 - 3 T
N o
S g ]
g8 I
RS A . L4
- L2 L O T T L-J L2
Ll (46711
i 05 AR 61l
179 0
156 0¢]
901
(g2 126 £2)
09 165
RS ‘
e = 24| DN |
gz Z= k!
10 1L 10
[o6r-¢l [16°121
08 ‘ 153
[29¢°¢1 ‘ [8v°€21
09 ‘ 165
[180°¢] (70121
£ ! K
Ll 168762 ‘
57 159
165 ]
! | | | | |
|
1 I A S A 2
——] e
= |z d =
< |8 - |2
Sl S~ | |7 mo,
S RIS
I
\ \ \ \ NN
‘ ‘ ‘ ‘ (18111
16621 Uss1 s s lgessr ussr | e €
Gl R 2 D R L I A T 0¢

3AXD50000038123




Dimension drawings 85

Hood is needed for UL Type 12 installation only.

o
®
[e0]
[s2]
o
[02°2) =3
5 §
(62 1] Q
€ %
(a2}
) ® ® @ ® ®
’4° @ © ° )

120
10

[4.721
| I

[ ]

A

— @ @®
O(?,: 6°0 @ @ (-] 8°‘
[9;? .
9
[08°€]
96
[68'] )
54 ‘
g LI E & L %f b
LI [}
L n- Y 1 a r-Y : T
o o o d
= Ny °
- - 4ttt |- — - —-—p
3= 22 IR
n- o ° -n 1.¢ b
e L L-J O T T LA A-J 1




86 Dimension drawings

Attaching points and hole dimensions

. 251

[

|9

5 10 50 )
TZ.HT‘ [2. 761 [T1.97]]

96

96

[.75]

[3.78]

[3.78]

241

66

[2.58]

T1.38]

SRS

T

281

|6
631

[

142

[5.571]

142

[5.571]

142

[5.571]

142

[5.57]

[4.37]

[27.42]

696

230

71

[9.061]

3AXD50000430598




Dimension drawings 87

Frame R6
=
2}
N
o
o
o
— o
- 2
_ [m]
= X
- <
= 16913 L1061, [ov' L] (1061, 189713 o
IS 7 Syl 881 7l 7
R Il =
= |7 e ~
e 5 ?% Ni
ol e - "
1 o — - B
090 11 L2 TTTI86 T S
(L1772 719
(651 Gl
(81711 0f
[ TeT 255 ‘
E S
T — B
e EER B g =
| o= 4 o o | |
ol =| | o —| = < =
i [ e BH=O =
~ o~ <~ - = =2 Ki 2| <
é" ————;————4&————(»;«
1902 _ _
0l Lig¢] [19°91 | [19°91 | [19°9] (212l
(200 Vg 891 391 391 69

0¢! [9y°9¢1 219




88 Dimension drawings

Hood is needed for UL Type 12 installation only.

[86°¢1 10]
= (vl €1 G6
3 = ‘ [G17€7 08
:i | R ° of o
e W s F
SRRt i s R
—l= o ¥
i ]
—
(] (=3 3 3 (-]
(25797 9769]
[GEGT 9¢]
Tt €T 76
o
I © O
e
i: L] (-]
(] (-]
e O
(NI LI
(-] (-] (-]
— — o Qo @ :‘:o o
2 = ° . o
- = . ° .
— fa— ©)
g : o 0|
o~ o~ ol loe :Eo o
() o (-]

3AXD50000021919




Dimension drawings 89

Attaching points and hole dimensions

120

il
N
:

[4.72]
25
[.981

44

168

168

168

69

[1.73]

[6.61]

[6.611]
[23.43]

595

[6.611]

[2.72]

|8 298 |8
.71 L1131 L.71]

3AXD50000019323




90 Dimension drawings

Frame R7

o
AN
2
N
o
o
o
o
o
Yo
o
L9 1) L10°6], 16v6) _ [11°6] %
I 57l 0ve STl @
D P I
= e
2l — ©
&, — Bl
(90711 12 86 1 G¢ 3
(71921 799 ©
667 G i
(8117 0¢ =
[0 €21 209 )
_‘t‘ - —-—-o-—-—- o—-—-—ol o
‘ 12l °
: = 3 o
7 F95z ] IR
ol - ::Sftt - - H <2 =
o U ool <« ° poI— o~ o
SE=E N il <=
e ~ L =
b —_—— - - — - — - O - — - — 4 ©
(9021 01 [2¢0) | ree 1) | (2e 1) [r9°2]
[€0¢1 <8 99 99 99 09
(207 02

[ey 821 <22l




Dimension drawings 91

Hood is needed for UL Type 12 installation only.

[86°¢1 101 % 8
»
(7€l S6 S
I o
= [[TeT €T 08 3
a o | o o o o o 8
. 14 o)
% L3 \ E(') %
o ° o
S AR -t
— -3 !O
= g
B =3 :Ql
; o o o o (-]
(87 97 979l
2667 o¢l
R
—
| (@) €]
=
] LT
o o 1 o o
g IR e .
3= o |-
L
oy o ° 0|
B ol |o
) ) ) )




92 Dimension drawings

Attaching points and hole dimensions

18 . 103 1?2 52

[‘7\]‘ [4.06] ‘[2.83] 2.05]

39 84 84 84

[1.54] [3.3\‘] [3.3]1] [‘3.3\]
o ‘ ‘

< I 8 _

o B (2) Nz
S= © @ @ &
@ @
2=
@ @

S =
S|~ |
== e

& &
-
— & &
2
& & & /$
D9, 1
[.36]
330 18
[12.99] [.711]

3AXD50000019324




Dimension drawings 93

Frame R8
N
o
N
o
o
o
o
— o
<« . . . . . [Te)
= [52°7] LIL°6), [or L] _ [IL'S) s2vl A/
= 801 Gyl 881 Gyl 801 é
ASS ™
AR e,
S AN =
o™
ool
21 11 G'8¢ [80°1]1 G 1¢
[€G76¢1 0GL
090717 €
(e 1] 0¢
(61 02 ‘
[€6°92] 789 |
.
SN =
= = o BT S
-
+ =
o —_—-— - — - —& — - — -& °
tor-el ot [01°9] [19°9] [19°9] [19°9] |[¥8 V]
(2L vl 0¢1 ] 891 891 891 7

[G0¢€l vI8




94 Dimension drawings

Hood is needed for UL Type 12 installation only.

[eC 77 011
60 71 701
Fee 21 ot
ol ]
2l L ]
SZ ° ) o o
(07 91 97291
(7261 el
[0S €1 689
ol ° ©
Sl
d|— ) (-]
o (-]
e
LT NUIHOE E
R ° ° - °
- g . T
(I~ ao1°
o = i . °
S s .
S o N o =
° o o =] o

3AXD50000021921




Dimension drawings 95

Attaching points and hole dimensions

—
=

24]

[

el 10 —
1305 (2. 7611

- 8

KO
03947 [ 13,947 [.3]

M%X%{ r

511

13

—
el

-l ]

10
4.337 | T4.611]

=+

168

—

[6.61]

168

—

—

[6.61]

121
[28.621]

168

—

—

[6.61]

—

123

[4.847 ]

—
I

21 - 346 -/

(1,061 [13.62] ~T1.06]

3AXD50000019325




96 Dimension drawings

Frame R9

3AXD50000021922

(58" 11 981 _ (69791, [9r'8] [68°1]
L SIe 0Ll GIe ]
2= B
o
<2
09011 L2 861 <2
(L€ 621 971
(8111 0t
(661 Gl
(€6 921 789
x%%; oo —-— o - — oo — 0o — o] e
L L + lo 4|
i — .
{ | ! o
EEEEEER! 0 =
: e -
=R w0 =
1 \ M
| / EQ
- !
m.:a @ o —— - — - — O— - — - - @
Ly oer (€971 91
e 7T (1€l e 9l | [ve 91 | [ve 91| [ve 9] [25°2]
toe 9 oLl 08 191 Kl 9 191 79

[G971E] v08




Dimension drawings 97
Hood is needed for UL Type 12 installation only.

L9791 v9l %
[¢¢ 91 8¢l

[66°G1 ¢yl

o o o—-—+-—0—-—--—0

o [}o
3AXD50000021922

[3.54]
)

200

391

10

[1.87]
|
|
‘0
|
\
o [ Rngn e anara [P

(7061 L762¢
[08°L]1 86l
(66 G1 ¢ ¢Sl

o o ° o : ° o o
ol O o ° . ©
o oo
O
© — ° o|
el — ° ° o
: . o o © o
b _P
P o
o ° o o
ol o °
2 2 ° :
~r o o &l
o oo
ol [O o o ° ° g
s o ° To ° o o




98 Dimension drawings

Attaching points and hole dimensions

0 20

||
[4.331] [3.54
102 |32 L

[5.200 = 4021 |

EaN

e e

[.24]

;

[7.171

182
.94]

[1.571
< ll
[

T

[6.34]

161

4
ﬂ%

[6.34]

161

121
[28.621

[6.34]

161

4
ﬂ%

[6.34]

161

[2.52]

- 04

R

18,5 | 425 - 8.5
REE [16.731 R

3AXD50000019326




Further information

Product and service inquiries

Address any inquiries about the product to your local ABB representative, quoting
the type designation and serial number of the unit in question. A listing of ABB
sales, support and service contacts can be found by navigating to
www.abb.com/contact-centers.

Product training

For information on ABB product training, navigate to
new.abb.com/service/training.

Providing feedback on ABB manuals

Your comments on our manuals are welcome. Navigate to
new.abb.com/drives/manuals-feedback-form.

Document library on the Internet

You can find manuals and other product documents in PDF format on the Internet
at www.abb.com/drives/documents.

a2 (frozen)
PDF-A5
Created 2023-12-19, 11:13:46


https://new.abb.com/contact-centers
new.abb.com/service/training
new.abb.com/drives/manuals-feedback-form
www.abb.com/drives/documents

www.abb.com/drives

3AXD50000349821 C

© Copyright 2023 ABB. All rights reserved.
Specifications subject to change without notice.

3AXD50000349821 Rev C (EN)

2023-12-19



	Table of contents
	Introduction to the supplement
	Contents of this chapter
	Applicability
	Target audience
	Purpose of the supplement
	Related documents

	Hardware description
	Contents of this chapter
	Product overview
	Layout and mounting position
	Example: tilted position, frames R1…R3
	Example: upright position, frames R4 to R9

	Degree of protection
	Special requirements

	Ordering codes

	Mechanical installation – General
	Contents of this chapter
	Safety instructions
	Examining the installation site
	Free space requirements
	Additional requirements for cabinet installations
	Necessary tools
	Unpacking and examining the delivery

	Mechanical installation – Frames R1…R3
	Contents of this chapter
	Flange mounting kit package contents
	Mounting template

	Installation procedure
	Optional steps
	Installation of the grounding plate
	Installation of the power cable grounding shelf lower on the bottom bracket

	Installing the drive on the mounting plate


	Mechanical installation – Frames R1…R3 +B063 +B066
	Contents of this chapter
	Flange mounting kit package contents
	Back hood
	Mounting template

	Installation procedure
	Installing the drive on the mounting plate
	Installing the back hood


	Mechanical installation – Frames R4 and R5
	Contents of this chapter
	Flange mounting kit package contents
	Mounting template

	Installation procedure
	Installing the drive on the mounting plate


	Mechanical installation – Frames R6…R9
	Contents of this chapter
	Safety
	Flange mounting kit package contents
	Mounting template

	Installation procedure
	Installing the drive on the mounting plate


	Dimension drawings
	Contents of this chapter
	Frame R1
	Attaching points and hole dimensions

	Frame R1 (options +B063 and +B066)
	Attaching points and hole dimensions

	Frame R2
	Attaching points and hole dimensions

	Frame R2 (options +B063 and +B066)
	Attaching points and hole dimensions

	Frame R3
	Attaching points and hole dimensions

	Frame R3 (options +B063 and +B066)
	Attaching points and hole dimensions

	Frame R4
	Attaching points and hole dimensions

	Frame R5
	Attaching points and hole dimensions

	Frame R6
	Attaching points and hole dimensions

	Frame R7
	Attaching points and hole dimensions

	Frame R8
	Attaching points and hole dimensions

	Frame R9
	Attaching points and hole dimensions


	Further information

